8 /

NOTES:

1. IMPACT RESISTANT GLAZING OPTION — IMPACT RESISTANT
GLAZING SYSTEM MAY BE INSTALLED IN TOP OR INTERMEDIATE
SECTION (WITH OR WITHOUT DECORATIVE INSERTS). GLAZING
SHALL BE 1/4” POLYCARBONATE. MAXIMUM GLAZING
DIMENSIONS SHALL BE 14” x 46" CUTOUT, FASTENED WITH A
MINIMUM #8 X 1” SMS: 3X ALONG THE HORIZONTAL AND 3X
ALONG THE VERTICAL. SEE DETAIL E ON SHEET 2 FOR
ASSEMBLY DETAILS.

2. VINYL OR WOOD DOOR STOP NAILED A MAXIMUM OF 6” 0.C.
MUST OVERLAP TOP AND BOTH ENDS OF PANELS MINIMUM
7/16" TO MEET NEGATIVE PRESSURES.

3. KEY LOCK, SLIDE LOCK, OR OPERATOR REQUIRED.

4. LOUVER OPTION — .040” MINIMUM LOUVERS IN MOLDED
FRAMES SCREWED TOGETHER WITH A MINIMUM OF (10) #8x1”
SCREWS (3X ALONG THE HORIZONTAL AND 2X ALONG THE
VERTICAL) INSTALLED IN THE BOTTOM SECTION. MAXIMUM
LOUVER DIMENSIONS SHALL BE 15" x 19" CUTOUT. LOUVERS
ARE NOT IMPACT RESISTANT AND DO NOT MEET THE
REQUIREMENTS FOR WIND—BORNE DEBRIS REGIONS.

5. FACER STEEL TO HAVE A MINIMUM 27 GA THICKNESS AND
BACKER STEEL TO HAVE A MINIMUM 29 GA THICKNESS.

6. A 4-1/2" x 8" x 22 GA BACKER PLATE IS TO BE LOCATED
AT EVERY INTERMEDIATE AND OUTER END HINGE LOCATION.

7. THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS
SHALL BE THE RESPONSIBILITY OF THE PROFESSIONAL OF
RECORD FOR THE BUILDING OR STRUCTURE AND IN
ACCORDANCE WITH CURRENT BUILDING CODES FOR THE LOADS
LISTED ON THIS DRAWING.

8. DOOR JAMB TO BE MINIMUM 2x4 STRUCTURAL GRADE
LUMBER. REFER TO JAMB CONNECTION SUPPLEMENT FOR
ATTACHMENT TO SUPPORTING STRUCTURE.

9. FOR LOW HEAD ROOM LIFT CONDITIONS, TOP BRACKET
SHALL BE A 13 GA LHR 7/4 TOP BRACKET WITHOUT
PUSHNUTS AND WITH A MINIMUM OF (3) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS IN LIEU OF THE BRACKET SHOWN
ON THIS DRAWING. U-BAR ON TOP SECTION SHALL BE
INSTALLED ON TOP OF LHR TOP BRACKETS.

13 GA HORIZ ANGLE\
13 GA FLAG ANGLE \

16 GA MIN HORIZ
TRACK

5/16x1-5/8"
LAG SCREW (MIN 4 N
AS SHOWN)
(4) 1/4-20x9/16" LARGE — ||
HEAD TRACK BOLTS OR
1/4-20 STUDS WITH
1/4—20 HEX NUTS

15 GA MIN VERT — |
TRACK

1/4-20x9,/16" TRACK — |
BOLT AND 1/4-20 HEX
NUT AT EACH JB—US
JAMB BRACKET LOCATION

5/16x1—-5/8" LAG
SCREW AT EACH
JAMB BRACKET

15 GA STIFFENED/

JAMB BRACKETS
SEE SCHEDULE FOR
QUANTITY, LOCATION,
AND TYPE

KEY LOCK OR SLIDE LOCK
BOTH ENDS (NOT
REQUIRED WITH OPERATOR
— SEE NOTE 3). SLIDE
LOCK SHOWN FOR CLARITY

NOTE:  (4) SECTION SOLID
DOOR SHOWN. SEE NOTE 1
THIS SHEET FOR GLAZING

/8
N

16 GA DOUBLE —H
END STILE [~

J=

OPTIONS.
JAMB BRACKET SCHEDULE
SUPERIMPOSED DESIGN PRESSURE DOOR | No. oF |NO- OF JANB LOCATION OF CENTERLINE OF JAMB
LOADS ON SUPPORTING STRUCTURE HEIGHT |SECTIONS | (g acr:_ Jami) e TeACK (AL DIVENSIONS 5 2oy
DOOR | DOOR 6-6" 4 7 2° (JB=US), 10" (JB—US), 21-3/4" (JB-US), 29—-3/4" (JB—US), 39" (JB—US), 48" (JB—US), 57-1/4" (JB=US)
WDTH | HEIGHT | UMIFORM LOAD EACH JAMB (PLF) 7-0°| 4 7 2° (JB=US), 10° (JB—US), 21-3/4" (JB—US), 29-3/4" (JB—US), 42" (JB—US), 52—1/2" (JB—US), 63-1/4" (JB—US)
L 51T37/=2940 7-6" | 4 OR 5 8 2" (JB—US), 10" (JB—US), 18-3/4" (JB—US), 26—3/4" (JB—US), 36" (JB—US), 45" (JB—US), 54—1/4" (JB—US), 74—1/2" (JB—US)
ALL +261.3/-294. 8-0" | 4 OR 5 8 2" (JB=US), 10" (JB=US), 21-3/4" (JB—US), 29-3/4" (JB—US), 39" (JB—US), 48" (JB=US), 57-1/2" (JB=US), 75-1/2" (JB—US)
9'-2" ALL +293.3/—330.0 > 8-071 SEE NOTE BELOW

NOTE:
(JB—US) FOLLOWING DIMENSION DENOTES SLOTTED JAMB BRACKET ATTACHED TO TRACK WITH 1/4—20x39/16"

ALL DOORS GREATER THAN 8 IN HEIGHT REQUIRE USE OF CONTINUOUS WALL ANGLE. SEE SUPPLEMENT TRACK CHART FOR DETAILS.

TRACK BOLT AND NUT AS SHOWN ABOVE.

REVISIONS
ER REV DESCRIPTION DATE APPROVAL
CIREV TITLE BLOCK 10/2/2017 ESC
32177 D]|ADD MODEL# 7655 11/15/2019 TLC
32442 E JADDED NYLON ROLLER OPT| 8/2/2020 JLC
32442 I |ADDED IRC/IBC NOTE 8/2/2020 TLC

STATIC PRESSURE RATINGS APPROVED SIZES
DESIGN PRESSURE(PSF): +64.0/—72.0 mi XIE[I);:T 92_4,2
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 24
\\\\\\
;-«- 0080000, ...'40 .
Digitally signe *..'°. ."..* ()
JOhn . by John ’;* s . ‘)'
Christian  |christian Vo™ VO ET KEL 4
Voelkel 17.06.18-0'5' -Innn..--cno--n--nnn.-uno-coo:--ool
et <% 133174 &2
'.’po'-. ( 0 .-'Q‘fld
| “@"'-{CENS?.’--“\V‘“:
\‘ S.SI-.......-E“Q-_,
\\\ ONAL ¥ =
N

THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

J. CHRISTIAN VOELKEL, PE
312 N. NEW WARRINGTON RD, UNIT 1A
PENSACOLA, FL
FL PE 82229
TX PE 133174

PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR
VERIFICATION OF WIND LOAD CONSTRUCTION DETAILS.

THE DRAWINGS AND ALL OTHER INFORMATION CONTAINED HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PROPERTY OF OVERHEAD DOOR CORPORATION AND ITS AFFILIATED COMPANIES. THIS DRAWING
AND INFORMATION, IN WHOLE DR IN PART, MAY NOT BE COPIED IN ANY MANNER OR DISCLOSED TO ANYONE WITHDUT THE PRIOR WRITTEN CONSENT DOF OVERHEAD DOOR CORPORATION. NO DISCLOSURE OF

ANY OF THIS DRAWING OR INFORMATION IS INTENDED TO OPERATE AS A LICENSE OR AUTHORIZATION TO USE IT FOR ANY PURPOSE WITHOUT THE SPECIFIC WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION.
THRD ANGLE ﬂ TOLERANCES UNLESS OTHERVISE SPECIFIED FINISH | The Genuine. The Original. NAME DATE DRAWING TITLE:
AOLE_DIAMETER WHOLE 3 TN b SEVSVILLE, ToRauN BV SERIES 5745/3765/7565
~ [UNDER 251 +004/-.003 NUMBERS: t .25 N/A o oy G._TAYLOR | 10/25/13 7655/515/525
ASHE V14100 AND Y145 I-:?SIERTDSIiSOOO &,‘08‘}6/&,'0303 X ta UNIT OF | waTeriaL: CHECKED BY:
+.008/—

APPLY, UNLESS OTHERWISE . . . XX .03 DRAVING
SPECTED INENSIING. AR FRACTIONS XXX 010 MEEA%:'RE NONE APRVED B waek D— 411320

REF_DWG USED ON | * 116 ANGLES: = 5° A scae N.T.S, | seerl o 2



chris
Texas


8 | 7 |

2 ' 1

(2) 12 GA COMMERCIAL 'L’ FRAME
TOP BRACKETS ATTACHED WITH (4)
1/4—20x7/8" SELF DRILLING SCREWS
(2 THROUGH STRUT AND TOP
BRACKET)

13 GA ROLLER SLIDE ATTACHED
TO BRACKET WITH 5/16—18 BOLT
& NUT IN THE CENTER SLOT

-__/-

ADD (2) 1/4—14x7/8"
SELF DRILLING CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END HINGE)

2” STEEL ROLLER WITH 9” GRADE

1144 OR EQUIVALENT STEM AND

7/16” PUSH NUT AT EACH ROLLER
LOCATION LOCATED BETWEEN THE .
BRACKET OR HINGE (EXCEPT
PUCHNUT LOCATED ON THE TOP
AND BOTTOM ROLLER IS LOACTED
OUTSIDE OF BOTH BRACKETS). 1/4”
MAX BETWEEN PUSH NUT AND
OUTER HINGE. OPTIONAL NYLON,
10/11—BALL BEARING ROLLER
AVAILABLE.

NOTE:

LOCATIONS.

(2) 14 GA WIDE BODY END
HINGES EACH ATTACHED WITH
(4) 1/4-14x7/8" SELF
DRILLING CRIMPTITE SCREWS

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE  SCREWS

12 GA EXTENSION BRACKET
ATTACHED WITH (3) 1/4—14x7/8"
SELF DRILLING CRIMPTITE SCREWS
(2 THROUGH STRUT AND BRACKET)

14 GA BOTTOM BRACKET
ATTACHED WITH (2)
1,/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS THROUGH
STRUT AND BOTTOM BRACKET
AND (1) 1/4—14x5/8" SELF
DRILLING TAMPER RESISTANT
SCREW

DETAIL D

,

EXTERIOR (

HINGE & BACKER PLATE LOCATIONS

9'—-2" MAX

¢

IF 3" TRACK IS USED, THEN END
HINGES TO BE 11 GA MODIFIED HINGES.
ROLLERS TO BE 3" STEEL ROLLERS WITH
9/16” DIA. X 9” LONG SHAFT AT ALL
LOCATIONS EXCEPT TOP AND BOTTOM.
TOP AND BOTTOM ROLLERS TO BE 3”
STEEL ROLLERS WITH 7/16" DIA. X 9"
LONG SHAFT. PUSH NUTS ONLY USED
AT TOP AND BOTTOM ROLLER

ALL U-BARS SHALL BE ATTACHED WITH (2)
1/4—14x7/8" SELF DRILLING CRIMPTITE SCREWS
AT EACH HINGE LOCATION AND BETWEEN ALL END
HINGES AND INTERMEDIATE HINGES. A MINIMUM OF
(10) FASTENERS ARE TO BE USED.

.‘\‘

h~-«—-—INTERIOR FRAME

\

FRAME ———— .|

ﬁ vsrd, )
z MSHEETMETAL SCREW

/'—'1 /4" POLYCARBONATE

(4) SECTION DOORS WITH
(7) 3" 18 GA 80 KSI U—BARS

(10) SECTION DOORS WITH
(19) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(9) SECTION DOORS WITH
(17) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(15) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH
(13) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(6) SECTION DOORS WITH
(11) 3" 18 GA 80 KS| U-BARS
LOCATED AS SHOWN

~8 T

(5) SECTION DOORS WITH
(9) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

LOCATED AS SHOWN

:
|
3
;
3
]
t

N T9T7T T®T7 T®T T¥7T T%

s
:
'
kE
]

;

~8T

o T%T T®T T®T T®T T®T T®7T T%

87T

o T%T T®T T%T T®7T T®T T%7T T®7T T¢

o T%®T T®T T®T T®T T®T T®7T T®T T®T T® <8I

REVISIONS

DESCRIPTION DATE APPROVAL

REV TITLE BLOCK 10/2/2017 ESC

32177 ADD MODEL# 7655 11/15/2019 TLC

32442 JADDED NYLON ROLLER DOPT] 8/2/2020 JLC

M=l e

32442 ADDED IRC/IBC NOTE 8/19/2020 TLC

SNy
=Xe OF Taphyy
el

’,’ *:..-' t l’

~

;....’......................‘..

J.C. VOELKEL ¢

133174 ¢
0,2 R
"‘0» '-ﬁ{QEN%?:?"Gé" s

WCS/ONAL B

p TR,
J, CHRISTIAN VOELKEL, PE

312 N. NEW WARRINGTON RD, UNIT 1A
PENSACOLA, FL

/ FL PE 82229
TX PE 133174
L
| -~ THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC. PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR
DETAIL E VERIFICATION OF WIND LOAD CONSTRUCTION DETAILS.
— THE DRAWINGS AND ALL OTHER INFORMATION CONTAINED HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PROPERTY OF OVERHEAD DOOR CORPORATION AND ITS AFFILIATED COMPANIES. THIS DRAWING
AND INFORMATION, IN WHOLE OR IN PART, MAY NOT BE COPIED IN ANY MANNER OR DISCLOSED TO ANYONE WITHOUT THE PRIOR WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION, NO DISCLOSURE OF
ANY OF THIS DRAWING OR INFORMATION IS INTENDED TO OPERATE AS A LICENSE DR AUTHORIZATION TO USE IT FOR ANY PURPOSE WITHOUT THE SPECIFIC WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION.
“""""-‘/I""‘-‘”" TDLERANCES UNLESS DTHERVISE SPECIFIED FINISH | The Genuine. The Original. NAME DATE ngE FELSEI 5745/5765/7565
HOLE DIAMETER WHOLE T WHE. e LEVISVILLE, [pRawN BYi 4
~ [UNDER 251 +004/-.003 NUMBERS: t .25 N/A acill =y G TAYLOR | 10/25/13 7655/515/525
ASHE V14100 AND Y145 I-:?SIERTDSIiSOOO &,‘08‘}6/&,'0303 X ta UNIT OF | waTeriaL: CHECKED BY:
200 +.008/- XX + .03 DRAWING
et o a FRACTIONS XX 3 o0 | MEASURE NONE v ek J— 411320
REF DWG USED ON | t 1/16 ANGLES: * .5° EACH scae NT.S, |seTo o P


chris
Texas


	411316-rF SH1
	411316-rF SH2
	411317-rH SH1
	411317-rH SH2
	411318-rF SH1
	411318-rF SH2
	411319-rF SH1
	411319-rF SH2
	411320-rF SH1
	411320-rF SH2

		2020-09-09T17:00:18-0500
	John Christian Voelkel




